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Candidates must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.
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Candidates are required to give answers in their own words as far

as practicable.
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Figure in the right hand margin indicate full marks.
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15 minutes extra time have been allotted for the candidates for

reading the questions carefully.

g Ue YRAHT & Wusi H € — WUs—3 Ud WUs—d |

This question booklet is divided into two sections — Section-A and
Secrion-B.

Gus—3 H 70 IS YA §, G 9§ fB=gl 35 gTAl &I IR <Al
AR 21 35 Ul ¥ Sff¥/h BT IR o WR UAH 35 DI B HoAlb
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e &1 OMR STR & H WANT HRAT AT 8, 31T R M
BT |

In Section-A, there are 70 objective type questions, out of which

any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. Darken the circle with blue / black ball pen against
the correct option on OMR Answer Sheet provided to you. Do not
use Whitener / liquid / blade / nail etc. on OMR Answer sheet,

otherwise the result will be invalid.

Gus—g H 20 Y NI U T | UH b oY 2 3w iR 7, oA
A gl 10 Ul &1 SR <A1 At g ga ifaRad s @ve # 6
S g A ¥ € ude @ forw 5 ofe fwiRa 8 R«
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In Section-B, there are 20 short answer type questions each
carrying 2 marks, out of which any 10 questions are to be
answered. Apart from this, there are 6 long answer type questions,
each carrying 5 marks; out of which any 3 questions are to be

answered.

Pl PR & Sclagi-id SYBRT BT YART goiadr afid 2 |

Use of any electronic appliances is strictly prohibited.



s — 3 / Section - A
g~ 2 / Objective Type Qestions

Ue W 1 W 70 9% @ UAd U @ A IR fddew Ry v g RH | e
HE 2| 3109 gRT g U e fadhey w1 OMR 3fic wR fafeed &% | fl 35 uedf
® IR T | 35x1=35
Question no.s 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option on the OMR sheet. Answer any 35

questions. 35x1=35

1. YOI M9 89d &1 S.I. 7EF BT ©

(A) T X #Hiex (B) @@ X (WeR)’
(C) B X e (D) e X (g, )

S. I. unit of surface density of charge is -

(A) Coulomb x metre (B) Coulomb x (metre)?

1

(C) Coulomb x )?

(D) Coulomb x (

metre (metre)
2. €, ® HME QI T —
(A) 8.85 x 10" F/m (B) 8.85x 10" F/m
(C) 8.85x 107"° F/m (D) 8.85 x 10%° F/m
The value of €, is -
(A) 8.85 x 10" F/m (B) 8.85 x 10" F/m

(C) 8.85x 107" F/m (D) 8.85x 10%° F/m



MY q ¥ T’ W R faedi doar & 79 & forg f=feRed @ o9 93
S

_ 1 q -1 q
(A)E_zmeo'; (B)E_zmeo'z
_ 1 q2 1 q
(C)E_zmeo'T (D)E_zmeo'z

Which of the following is correct for electric intensity at a distance

‘r from charge q ?

_ 1 q _ 1 q
(A)E_émeo'; (B)E_émeo'z
_ 1 q2 _ 1 q
(C)E_MIEO'T (D)E_zmeo'g

fBdl el g & arex Al +q oMy ¥ e S @ 9quf gs |
e arer faga—varaw @ forg f=foRaa § @9 W& 8 2

(A)ax <, (B) L

©) = (D)

€0
Which of the following is correct for total electric flux from the

whole surface, if +q charge is placed inside any spherical surface?

(A)ax e (B) =
©) = (D) £

I fgga @ el Rerfa # g v &1 o gar € —



(A) 1 pCos6 (B) 1 P

4TTEO r2 4mweo 12
(C)— .2 (D)

The electric potential in equatorial position of an electric dipole is -

1 pCosH 1 p
(A) ameo = 12 (B) ameo " 12
(C) 4;60 . g (D) Zero

AR TR IR AUTESH fccdT 3R oD ufecd & 3MMael Bl I
BT & —

(A) = (B) 1uC

(C)1C (D) sr=d

Sum of charges on collecting plate and condensing plate of a

charged capacitor is -

(A) Zero (B) 1uC
(C)1C (D) Infinite
3MMaeT BT 3w Brem § —

(A) AT (B) AT
(C)A'T (D) AT?

Dimension of charge is -
(A) AT (B) AT

(C)A'T (D) AT?



10.

fer=afarRaa & fva ¥ &1 915 %@W%?

(A) fagedra weras (B) fagedrar fawa
(C) faggira enfkan (D) faegeirar &r
Which of the following quantity has unit T::tl:e ?
(A) Electric flux (B) Electric potential
(C) Electric capacity (D) Electric field
3MYfares TRTdEAAr & AES © —

(A) Nm/C? (B) Nm?/C?

(C) N’m/C? (D) =74 | ®Ig &l
The unit of relative permittivity is

(A) Nm/C? (B) Nm?/C?

(C) N°’m/C? (D) None of these

Tl guE gikar ‘C’ 9Tl WRA d FHFTR P H Sled IR SHD]
AAged aTiRaT Bl 8 —

(A) 2C (B) C

(D)5

(C)

N O

Two capacitors each of capacity ‘C’ are connected in parallel. The
equivalent capacity is

(A) 2C (B) C



©)°< (D) -

2C

11. 'y Jugdie dem ‘A’ USH ST d1el gdet fUSH &1 *ad faaes oo
Il B—
(A) (1- WA (B) (u—"1A
(C) (u+ 1A (D) (u + 1)A?
Minimum deviation angle of a thin prism of refractive index ‘u’ and
angle of prism A is -
(A) (1- WA (B) (u—"1A
(C) (u+ 1A (D) (u + 1)A®
12. g & UHTY BT qUihA BIAT § —
(A) I (B) ¥aw avispH

(C) PTefl T &7 quishH (D) ®Teil USeT HT quichH
The solar spectrumis -
(A) Continuous (B) Line spectrum

(C) Spectrum of black lines (D) Spectrum of black bands
13, MG AEENH @ oY STl REed Bl 3Mdg & dT 8l § —

(A) - j:—z (B) —foxfe
c)- L& (D) — fo + fe

fo



14.

15.

16.

The magnifying power of an astronomical telescope for normal

adjustment is -

(A)- 22 (B) - foxfe
(C) - ]{— (D) - fo + fe

f=forRaa # & &1 smad+ie dav 1fte gar © ?

(A) o= (B) uri

(C) <rer (D) &1

Which of the following has maximum refractive index ?
(A) glass (B) water

(C) iron (D) diamond

fihs1 @1 diers & fory FforRad & & 93 98! © 2

(A p=2 B)p =%
(C)B =D.Ad (D) B = 2D ).d

Which of the following formula is correct for fringe width ?

(A) g =2 B)p =4
(C)B =D.)d (D) B = 2D.).d

U JhTI—dy a_TeR Bidl 2

(A) 9.46 x 10" m (B)9.46 x 10" m



(C)9.46 x 10" m (D) 9.46 x 10 m

One light-year is equal to -

(A)9.46 x 10" m (B)9.46 x 10" m

(C)9.46 x 10" m (D) 9.46 x 10 m
17.  frfoad § @19 oa—AaH: g3 98 § ?

1

E2-1) (— -—) (B)

U1 Ry Ry

(A)

e

(C)-= (f- 1) (R2—Ry) (D)

SR

Which of the following is correct lens-maker formula ?

W)= -0 (B);=(1-2) (-2
(©)7=C(2-1) (R~ Ry) (D)= (1) (R +Ry)

18. fo=falRad § &9 9= & sgadie & forg |&r 8 ?
(A)u=1 B)u=2
C)u=1.5 (D) u=1.33

Which of the following is correct for refractive index of water ?

(A)u=1 B)u=2

(C)p=1.5 (D) 1 = 1.33
19. MY g & foy W gfic @ =ETH 3 € —

(A) 100 cm (B) 50 cm

(C) 250 cm (D) 25 cm

10



Least distance of distinct vision for normal eye is -
(A) 100 cm (B) 50 cm

(C) 250 cm (D) 25 cm
fFr=forRad # @19 @l &1 FHieRor § ?

A A
A u=2+ Byu=5+%

D)u=A-7

_4A_ B _A | B
(A)M—;"'? (B)y—?+?
Cu=A+5 D)u=A-%

frfeRad o &9 gaIfvid Uebrer @ digar (1) iR Uder & diireed

M) @& fog wEr 8 ?
(A) | & 22 (B)l a5
(C) a2t (D)l a =

Which of the following is correct for intensity of scattered light ()

and wave-length of light (1) ?
(A) | a 12 (B)l a3
(C)lar? (D)l a =

f=faRad & &9 U1 & foIU Aeuq & ggo< 9 8] dqoldl & °

11



(A) smgfy (B) arvacich

(C) o (D) TRITaed

Which of the following does not change with the change of
medium for light ?

(A) frequency (B) refractive index

(C) velocity (D) wave-length
23. f=foRad # @9 dawe |E1 & ?

(A) TR = 2 x gerfeR (B) TR = =~ x AR

2
(C) UATR = 214 X DAl (D) deliaR = 214 X GATR

Which of the following relation is correct ?

(A) Phase — difference = 27” x path-difference

(B) Path-difference = 27” x Phase-difference

(C) Path-difference = 2n 4 x Phase-difference
(D) Phase-difference = 2rn 4 x Path-difference
24,  fr=faRaa # o faameh aftewr & foag 98 2 2
(A) PR = 2n7 (B) el = 2n+ 1)
(C) PR = 2m (D) HericR = 3nn
Which of the following is correct for destructive interference ?

(A) Phase-difference = 2nn

12



(B) Phase-difference = (2n + 1)
(C) Phase-difference =2«
(D) Phase-difference = 3n«
25. f=feRad # & UaT & 37 & {7y 4= HRT 7 ?
(A) TIT (B) ot
(C) ®et (D) 3
Which of the following is the main cause for colour of light ?
(A) Wave-length (B) Velocity
(C) Phase (D) Amplitude
26. fr=foRad # @19 smdeRfzd € ?
(A) a—aT (B) B—a1
(C) BIeH &uT (D) UIer=
Which of the following is chargeless ?
(A) a - particle (B) B - particle
(C) Photon-particle (D) Proton
27.  f=faRag & &9 soiaeia dlee § A1UT ST € °?

(A) smaeT (B) farar=z
(C) grT (D) ot
Which of the following is measured in electron volt ?

(A) Charge (B) Potential difference

13



28.

29.

30.

(C) Current (D) Energy
fer=faRaa & i wie &) SHoll & forw 981 8 ?

(A) hcA (B) "7
(C)= (D) =

Which of the following is correct for energy of Photon ?

(A) he (B) =
(C)= (D) =

TT—HT RN BIdT & —

Wave-number is equal to

(A) > (B) A

(C)

>IN

f=folaa & o9 dwwr T1fs o B @ fog |98 g ?
(A) R=RyA"/3 (B) R = RoA”/3

(C) R = RA? (D) R = RoA®

Which of the following is correct for radius of nucleus ?

(A) R=RyA"/3 (B) R = RyA”/3

14



31.

32.

33.

(C) R = RA? (D) R = RoA®
fereferRaa & & drr I 8 ?

(A) 1U = 1.6605 x 10 kg (B) 1U = 1.6605 x 10 kg

(C) 1U = 1.6605 x 10 kg (D) 1U = 1.6605 x 10" kg

Which of the following relation is correct ?

(A) 1U = 1.6605 x 10?%* kg (B) 1U = 1.6605 x 10?° kg

(C) 1U = 1.6605 x 10%° kg (D) 1U = 1.6605 x 10" kg

fferRad # o sfa oMy @ fog | & & 7
(A) To=4 (B) To= A°

(C)To=

>R

Which of the following is correct for average life ?

(A) To= 1 (B) To = 2°

(C)To=

>R

238U ¥ =ygta @ < el —

(A) 92 (B) 238
(C) 146 (D) 330
Number of neutrons in 235U will be -
(A) 92 (B) 238

(C) 146 (D) 330

15



34. ffaRad # &9 a8 8 ?
(A) (4)10 = (100), (B) (4)10 = (10):
(C) (4)10 = (1001) (D) (4)10 = (111);
Which of the following is correct ?
(A) (4)10 = (100), (B) (4)10 = (10):
(C) (4)10 = (1001), (D) (4)10 = (111);
35. My InT (1 4+ 1) & SRMER BT © —
(A) 1 (B) 0
(C) 10 (D) 11
Binary addition (1 + 1) is equal to -
(A) 1 (B)o

(C) 10 (D) 11

36. OR 7 & folu gferas afoia & 8 —
(A)A=A (B)C=4B
(C)AB=0 (D)A+B=C
Boolean expression for OR gate is
(A) A=A (B)C=4B
(C)AB=0 (D)A+B=C

37. Gg@dIg MOl FH AHG BT & —

(A) JT (B) JT?

16



38.

39.

40.

(C)JT (D)J'T
Unit of magnetic moment is -
(A) JT (B) JT

(C)JT (D)J'T

JIHeieral BT & —

(A == B)u==
(C)u = BH D)p= =

Permeability is -

(A) tano = 5—: (B) tano = i—’;
(C) tand = By.By (D) tand = (By.By)*

Which of the following is correct for angle of dip (&) ?

_ By _ Bu
(A) tand = B (B) tan§ = o
(C) tané = By. By (D) tané = (By.By)*

gl & FHEDH gd IR T BT H A Bl & —

17



41.

42.

(A) 0° (B) 45°

(C) 90° (D) 180°

The value of angle of dip at the earth’s magnetic pole is -
(A) 0° (B) 45°

(C) 90° (D) 180°

TS D AT owTs (Lg) T @ owms (Ly) #§ 9w 8l §

The relation between geometrical length (L) of a magnet and its

magnetic length (L) is -

(A)Ln =2 L (B) Lm =2 L

(C) Lm = L (D) L = 2L,

raid &1 gaweierar (o) Bl § —

(A) po=4m x 107 Hm™ (B) po = 4m Hm™

(C) o= 10" Hm™ (D) po=m x 107 Hm™
Permeability of free space (uo) is -

(A) uo=4m x 107 Hm™ (B) o= 4m Hm™

(C) to=10" Hm™ (D) po=m x 107 Hm

18



43. fafd # geor ygiy gl € —
(A)o (B) 1
(C) oo (3r11) (D) 100
Magnetic Susceptibility in Vacuum is -
(A) 0 (B) 1
(C) oo (infinity) (D) 100
44, fata ¥ fe@—dear @& &1 e g 2

__1 _ |
(A)C—m (B)yC = o
_ 1 =_1
©c=7= B)C=+=
The speed of electromagnetic wave in vacuum is -
__1 _ |
(A)C = N (B)C= \/:
=1 =_1
(C)C= NG (D) C N
45. g fHRoN & TRITQE BT A BT § —
(A) TTHT 10 " #Hiex (B) @ TRT 10" #HIex
(C) e 10" #rR (D) 1 3

The value of Wave-length of X-rays is -
(A) about 10" m (B) about 10’ m

(C) about 10" mm (D)1 cm

19



46. fIga e TR & WEARY BT I BRI B —
(A) E & TR (B) B Witk
(C)BXE B FHR (D)E x B & GHicR
The direction of propagation of electromagnetic wave is -
(A) Parallel to E (B) Parallel to B

(C) Parallel to BXxE (D) Parallel to ExB
47.  fpft SSIFSTT & Y BT HH BT © —
(A)1.6x10%'C (B)1.6x10™C
(C)1.6x10°C (D)1.6x10™M C
The value of charge of an electron is -
(A)1.6x 10%'C (B)1.6x10™C
(C)1.6x10°C (D)1.6x10™M C
48. wiw fgais (Planck Constant ) &1 fasm gl &
(A) ML?T” (B) ML*T?
(C) MLT" (D) MLT?
Dimension of Planck Constant is
(A) ML?T” (B) ML?T?
(C) MLT" (D) MLT?
49. fa=ferRa & o9 @& 8 ?

20



(A)1ev=16x10""J B)1ev=10"J
(C)1ev=16x10"J (D)1ev=10"J
Which of the following is correct ?
(A)1ev=16x10""J B)1ev=10"J
(C)1ev=1.6x10"J (D)1ev=10"J
50. ~feAT ol e & ford &St § —
(A)N = Ng e~#T (B) N = Ng e?T
(C)N=Ng e *T (D) N = Ng e~
The expression for radio active decay is -
(A)N = Ng e=#T (B) N = Ng e?”
(CYN=Ng e #7 (D) N = Ng e™#T°

51. f=falRad & a—aor & forw o9 I8 8 ?

(A) 1 9IeH 3R 1 =& (B) 2 Ui 3R 2 =&
(C) 1 Ui 3R 3 =ggi= (D) 2 " 3R 3 =Yg

Which of the following is correct for a —particle ?

(A) 1 Protons and 1 neutron (B) 2 Protons and 2 neutron

(C) 1 Protons and 3 neutron (D) 2 Protons and 3 neutron

52.  OYd PpeTel ¥ goldcid BT HIofig W Bar & —
A)L=22 (B)L=2

21



53.

54.

55.

(C)L="2 (D)L ="

Angular momentum of electron in possible orbit is -

A)L=2 (B)L="
L= D)L=+
Beits ot g & —

(A) FeTasTT & (B) wictr &
(C) =gt & (D) Tt &

Cathode rays are collection of
(A) elctrons (B) Protons
(C) neutrons (D) atoms

ORATY] H AR A HT & —

(A) 9ICI9 U4 geldaie (B) goladg= Ud =ggi

(C) Ul T =ggi (D) seldee U fderas
The fundament particles present in an atom is -

(A) Protons and electrons (B) Electrons and neutrons
(C) Protons and neutrons (D) Electrons and nucleons

f=faRaa § &9 fhaele @ gad aw & GRfdd gdr g ?
(A)W’T (B) TS
(C) (D) =g

22



56.

57.

58.

Which of the following is conserved in Kirchhoff's 1% law ?

(A) energy (B) charge

(C) momentum (D) mass

R 1 a1l B R §Sell & dw R | ORT 9891 & BRI DI dd

8 BT & —
(A) = (B) £~
(C)%F (D)=

Magnetic Induction at the centre of circular coil of radius r carrying

current | is-
(A) &= (B) £~
(C)5F (D) &=

frferRaa & o9 |&r &8 ?

(A) 1 kwh = 3.6 x 10° J (B) 1kwh=3.6J
(C) 1 kwh =10°J (D) 1 kwh =3 x 10° J
Which of the following is current ?

(A) 1 kwh = 3.6 x 10° J (B) 1 kwh=3.6J

(C) 1 kwh = 10°J (D) 1 kwh =3 x 10° J
frferRaa & o9 @& &8 ?

(A) 1 2T = 1 NA'm” (B)1 e = 1 A'm”

23



59.

60.

61.

(C) 1 2aT = 1 NA” (D) 1 2T = 1 Nm”™

Which of the following is correct ?

(A) 1 tesla=1NA"'m" (B) 1tesla=1A"m"
(C) 1tesla=1NA" (D) 1 tesla=1 Nm"
areel dreeHie] BT Uik BT & —

(A) 10 3 (B) 20 i

(C) 100 3™ (D) 3=

Resistance of an ideal voltmeter is -

(A) 10 ohm (B) 20 ohm
(C) 100 ohm (D) infinity

IR B aRT-gUTRAT BT § —

(A) ?E o

(C) fagra X et (D) e x frfarR

Current sensitivity of Ammeter is -

deflection
(A)

current

t
( ) curren

deflection
(C) deflection x current

(D) deflection x potential dif ference

TURGd BT S.|. 796 8§ —

24



(A) Tetta (B) dlee
(C) 2t (D) &
S.1. unit of self-inductance is
(A) Coulomb (B) volt
(C) ohm (D) henry
62. frfaRad # yoamadt arT & forw ®F 98 ® ?
(A) Iims = 0.7071, (B) Ims = 0.6061,
(C) Ims = 0.6371, (D) Ims = 0.5051,
Which of the following is correct for alternating current ?
(A) Iims = 0.7071, (B) Ims = 0.6061,
(C) Iims = 0.6371, (D) Ims = 0.5051,
63. fa=ferRad # RvG—vfrard & forg @19 @& 8 ?
(A) X, = wl (B) X. = w’L

(C) X, = wl? (D) X, =

~|e

Which of the following is correct for inductive reactance ?
(A) X, = wl (B) X, = w’L
(C) X, = wlL? (D) X, = %
64. fr=faRad @ ucmacdt ogRT gRUY # dHad WaiRa C @ W aiRd™
gfcremd glar & —

25



(A) X = — (B) Xc = C

(C) X¢ = % (D) X¢ = Zero

The capacitive reactance Xc alternating current circuit containing
only capacitances C.

(A) Xo = — (B) Xc = wC

(C) Xc = (D) X¢ = Zero

ale

(L — R) gRuer &1 yfaaren grar @ —

A.Z=wR (B)Z=vR + wL
(C)Z=R? + (wl)? (D)Z=R+wL
Impedance of (L — R) circuit is -

B.Z=wR (B)Z=+vR + wL
(C)Z=R? + (wL)? (D)Z=R+wl
geaTact aRuer #§ 220V &1 RRER A 81T ® —

(A) 220V (B) 220+/2V

(C) 300 V (D) 200 V

Peak value of 220V in alternating circuit is -
(A) 220V (B) 220v2V
(C) 300 V (D) 200 V
RISl YRS # ST FHofl BIaT & —

26




68.

(A) LI (B) L7l
(C) LI (D) LI?
Magnetic energy in a current carrying inductor is -
(A) LI (B) ;L7
(C)-LP (D) LI?

9P &3 H gRMEE] Ied R BRIGR] def Bl & —

(A) = LD (B) F = (I x B)
() F =ExD (D) F = I(B x I)

(A) = D) (B) F = (I x B)
(C) F = &xD (D) F = I(B x I

(A) P = V2R (B) P = VR?
©cPp== (D)P ==

Which of the following is correct for the expression of electric

power ?

(A) P = VR (B) P = VR?

27



70.

C)P=% () P =

1

(A) (B) 1

(C) 10 (D) -

The resolving power of human eye (in minute) is
1

(A) (B) 1

(C) 10 (D)

N |-

Yvs—g / Section-B

g SN ue / Short Answer Type Questions.

U AT 1 9 20 Y SN U g | Bl 10 U @ SR < | YAD b oY 2

i FiiRa 2| 2x10=20

Question Nos 1 to 20 are short Answer Type. Answer any 10 questions.

Each question carries 2 marks. 2x10=20

1.

NS g1 | 3T T T & 2 2

What do you mean by Lorentz force ?
faea—f&ga &1 aRamT ford — 2
Write the definition of electric dipole.

S.I. 95 & 1Y GRS &1 IR &l JHsm — 14+1=2

28



10.

11.

12.

13.

Explain the capacity of a capacitor with S.I. unit.

UfeRIEddT & 39 T e 8 2

What do you mean by resistivity.

S.|. A=® & A1 fdgd—ar8d de1 bl A | 1+1=2

Explain electromotive force with S.1. unit.

BT UfCRIY BT HeR Dl I 3T R qHSI © 2

What do you mean by colour code of carbon resistance.

3T UROT 31T T FHSI & 7

What do you mean by mutual induction ?

Alh—HScll Pl FHSI —

Explain choke-coil.

g & & H <l A Refadl &l ford — 1+1=2

Write two standard positions in magnetic field of a magnet.

oAl & YqbIg dcd Bl FAST |

Explain magnetic elements of the earth.

3Uqcid ¥ 39 a7 FHA 8 ?

What do you mean by refractive index ?

Hufhd of Al @ &l Bl AT |

Explain power of lenses in contact.

e gfte & HROT BT ford | 1+1=2
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Write the causes of short-sightedness.

14, ST 9 MY FT A | 2
What do you mean by Rainbow ?

15. TR BT GASIR — 2
Explain wave fronts.

16. DI -0l DI AAST | 2
Explain Nuclear binding energy.

17. AND 71 &1 993 | 2
Explain AND-gate.

18.  UfaadId yared & <l IaTexvl fory | 1+1=2

Write two examples of diamagnetic substance.

19. 99 BT B gRETeT fored | 2

Write the definition of angle of dip.
20. IGATAD DI AASM | 2

Explain Semi conductor.

<" IR w9/ Long Answer Type Questions.

o T 21 9 26 <" IR U 2 | bl 3 YAl & SR S| UAH b foIU 5
Jip iR 2 | 3x5=15
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Question Nos 21 to 26 are short Answer Type. Answer any 3 questions.

Each question carries 5 marks. 3x5=15

21.

22.

23.

24.

25.

26.

foeei®m & FIdl & fodd dor 99ei| 59 ™l &1 SuT @R
giiewed o @& e @ AR ure o | 2+3=5
State and explain Kirchoff's laws. Applying this law, obtain
balanced condition of Wheatstone’s bridge.

faereia faga & dRo ol g W fagd—daar &1 @oe o & | 5
Find out an expression for electric Intensity at any point due to an

electric dipole.

Jaad |dg & fory AU T gF &I w@fud o — 5

Uo— U1 _ H2 H1q

R v u

Uo— U1 _ U2 Hq

R v u

TT—RIET & 3MIR W YHI & WRIadd & I8l &7 wnfod # | 5

Establish the laws of reflection of light on the basis of wave theory.
OR 7€ 3R NOR 71 &I HH3I | 5
Explain OR gate and NOR gate.

Rel Rearfa & 5l Bs—g® & SR gRa 83 & oy &wd U
N | 5

31



Find out the expression for magnetic field due to a bar magnet in

broad-side on position.
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